OISR R 507 (LRSS
RS2 I PR (R)
(LA DER)

HYERk254 4H 1H
=

BER264FE 3H31H
H

AITAR B Pl 1E T 5

(BT )
HEH
WA PEI N

FEA A PE L
QAL
SHE A

St

1
1.200.000

£

1,200,000
10001

SLELLLEITE G900
HZ e

Ll || BY A T B A
1000
TG 70:060¢
70.000 70.000
W2 FE g 4.000.000 4.000.000
 RIEE SR 922 000

900.000
_____________ 2-000.000.
6

_______ 2000000
6600000 i

B EAT 4

T8 & w4 500.000 ez
B oS A 1.000.000 1.500.000

I R 2] 4 1.000.000

TS —=7 1 (BE)
I

S G+ G T &

(LIS - R B 2

4

....... 7:000:000:
3,100,000 3.000,000
1.000.000

ERIEE=RL DI E2h
1.000.000 B2
500.000

FHEA

1.000.000
;EE LIX ]\;:;:;:;:;'

A=

%ﬁ’%]\(j%1 '

_________________ oy R

oo LN heg i nan
PAN

A R0 g
............. 3:289:000:

4 240 192 .

& # é




H k254 4H 1H
TR 264E 3H31H

(Y DER) (HLZ: )
Bl H AT A ETHEEE|  AFE TR il CE
R gusioae . dass0000
1. EREE 50.000 50.000
T B bk - A B R TEUPIT - BREFAE < AZ AR R
2. ﬁﬁﬁié 8.520.000 9.200.000 l=s10-Ao%6, 014
3. YHERA- 2R 2.000.000 2.300.000 k. 51kt
4, HEETE 500.000 500.000
£ % B 5. {REEEL 400.000 550.000 [ - e reis |
T 6. BB 50.000 50.000 lusraze
7. F¥ETH 100.000 100.000 [ Xt Anss
A=
8 =kl 160.000 0 |aaxr b »otepgd EEL
9. tEAIEA# 501.250 0
10. dE# 0 300,000 [ KFn 7 AEZRA
DGR 200000 200.000 Lt
o : : S o EOROOO0 R I200:000
ng?g(j;} 1. *ﬁ*'ﬁ!’/\gﬁi 550.000 800.000 [|imsisommrsi1l7Esi187
o VT A4 400.000 400000 lmwa
=N K =
—— B s S =
1. EkEY 1 020,000 1.020.000 EHE
fik A
O AR 180.000 180.000
3. HAEfRZE 220.000 220.000
ERE
FHGRET | 4 pen 500.000 500,000 |#rgsksss A mn s
SIS T 10.000 10.000
6. A& B 100,000 100,000
7. BB E 500.000 500,000 |Ak3HE - #h- FEEE
Q. FTHAHAB 0 0]

9. fRlEAL

200,000

SRR I SR

200,000

N = 200.000
200 000
T 6 &
A S
(R ERE B AKGE A 4
X
=




